BONUS 9381.8{\; MENT @

ImpliciT DIFFfasVTIATION
NYA- TLeTRO

S OLUT!ICJn\S‘

O x4y

Cof x

= 2}6+?f

CZ)(_-ILY ’Bcos;c — (-—S.'m%()&-{-\{) _ Z+Y$
cosy

2, 3 2
2vcos¥ + Y'cosy + S‘m\L(szrT) = 2008 % + yeos X

\(ﬁc‘.os X — T’CDSZX = Zcos‘z)c. — 2ZXCoS ¥ ﬁsinx(xz.;)%

D Y. 2 costX -zxcoSK —Siny C)c1+vy>

CoSX— cos*x

N
@ £ = SNy TX
% ’
[‘J'—’X»IJ = (Cosxf3y$+ l

\IZ.

% Z
e j[j—xf] = T?-(cosp ? + Y
‘IGX/\J-—KG%J’ = Yleosyy? +y

%A

Y _yz = y3cosyly? +'>Ce \/’



T

.

j?

—
—

A

ye -y
Yéosj Lee)




